Chapter 8

Simplify the expression. In exercises involving numerical bases only, write
your answer using exponents.
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8.3 Simplify the expression. Write your answer using only positive exponents.
33. y 10 34. (3¢)7* 35. 10b73¢° 36. (2d%e %73
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8.4 If the number is written in scientific notation, write it in standard form.
If the number is written in standard form, write it in scientific notation.
41. 0.87 42, 378.4 43. 0.000359 44. 465,000,000
45. 5.3 X 10° 46. 1.67 x 1074 47. 8 X 10°° 48. 9.0001 X 10?
8.4 Evaluate the expression. Write your answer in scientific notation.
2 -5
49, 3X10° 50. (8.5x 10137 x107%) 51, 24X107
8 X 10 6 X 10
Graph the function.
85 52. y=3" 53. y = 1.257 54. y = (%)x 55. y =5 2%
_1 X _ 1 X _ X _ 1 X
56.y—§-2 57. y = 2-5 58. y=—-5+2 59. y= 3-4
1 X x x 1 X
8.6 60. y = (g) 6L. y = (0.2) 62. y=3+(0.2) 63. y=2- (g)
—4. (L) =1 (17 — o (L) = 3.y
64. y=4 (3) 65. y=1 (3) 66. y = —2 (3) 67. y=—3 (3)

8.6 68. Tell whether the table represents an exponential
function. If so, write a rule for the function. .
y % 5 10 20 | 40
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